O [1]-1<2<100000 20000, VI+z—f(z)<+000
0000 f(zx)yDDOODOO.

0 [2]00000000 20 20000 A#E), 000000000
002020000 BOOOO,000000000.000,E00
000,'A0 ADOOOO,detBO BOOOODOOOOOOOOOO.

(1) A =A'A=F0000 ADODOO0OOO.

(2) A% = AA' = E, AB = BA?, detB=—-10000 (A,B)0000
ooo.

O [3]ooooooooooon

Z—f—Qx—xZ, z(0)=C (COOODO)

000 z(t) (t>0000.

(1) z() >0000000000000,y#) =1/z()00000000
ooooo.

(2) y() 0000000 00000000000000,2(¢)0000.

(3) 0000000 % 22Q0ppoo0,0000000 z() 0000
oooooo.

()c>2  (i)1<C<2  (i)0<C<1.

0 [4lm D000 2000000 f(x) 000000 20000 mOO
00000.000,0000000»0000000000.0000
oo.

(1) f(z)=0 mod n 000000000 nO000 mMOOO0O00000
oooooooo.

(2) 000000000000 DOOODOODOODOOOOOODOO.



O [5]f(m,n)=(2"0 mO0O00O00)0000, fimn) 0DOOO
0000000000000,

0 [6]X1,X,,.. 0000000 PX;=1)=P(X;,=-1)=1000
Dooooo,

Sn:X1+X2+—|—Xn, Un:max(Sl,Sg,...,Sn)

OOobD.00b0ooogonD Kodo, S, =KOOOoooo k01700
0. 00booboobgooog.

(1) 00 P(S,=K)0000.

(2) 00O
P(T=k)<2P(T=k, S,>K) (k<n)
000
P(U, > K) < 2P(S, > K)
ooo.

[] [7]DDDDDDDDD 400000000000000DO0OO0DOO
OOooobD A0oOoooOg.

>

I
* = X =
Lo X = %
Ol — ¥ =
— Ul Wl X%

obd,~00000000000000.

gooboobooboboboooooooooooboobobbobotboooood
gooog.



